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(=)

—, %$FHE. 1.B 2.A 3.B 4.D 5.D 6.A 7.C 8.C
=\ AF/.

1. + 12.5 2. 13 0.4

3. 0.1 /M 0.1 4, 0.15 0.75 3.5 0.27

5. 7.5 7.49 6. 18.9+6=3.15  18.9-+3.15=6

7. 640 320 8. 85 56
=, i,

1. 3.1 0.04 0.9 30 3 0 25 0.3

2. 0.36 6. 1212-w2++-

3. 1.8 3.7 40 6.18
EI\ > = < < =
F. BRI

1. 8000-+8.19~976.80 (FX7T)

2. 50+1.4~35 (f4)

3. 3.5+0.46~8 (4>

4, 78x%3.50+12=22.75 (J&)

5. (50-13.1) +4.5=8.2 (JO)

6. (28+33) =9~7 (1 i) 80X 7=560 (JT)
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—, %&$FE@M.1.D 2.D 3.A 4.B 5.A 6.B 7.C 8.C
=\ AF/.

1. 3 2.3 1 3. F4 £3 @E&E3 E4)
4. HXHRR PR 5@ @

6. (1) &£ 8 (2) £ 6

7. (1) ® e G

= EHE B 2 3 4 1 2

PO, PR, 1. (B&) 2. (H%)

. EERE. 1. (B%) 2. (&) 3. () (&) (2) (#8) (3) (H&
7N WitER. (88

—, EFEF. 1. C 2. B 3.B 4.D 5,.C 6.D 7. A 8.B
—. E=/.
.2 9 2. 5 5 3.1B #H 4. 30 90
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5.4 6 8 6. 6 12 7. 9=2+7 11=2+2+7 BY 11=3+3+5

= B B
M. ZEERREREANEZHHH.
1. 1. 2.3, 6,9, 18 1. 2 3. 4. 6. 8, 12, 24
1. 2, 3. 6
2. 8, 16, 24, 32, 40, 48 12, 24, 36. 48
24, 48
3. #WH 1. 13, 39, 61 fE% 2. 10, 22, 64
Bk 2. 13, 61 A% 10, 22, 39, 64

4. 2 BIfE% 104 18, 48. 60 5 [IfE% 10, 15. 25, 60
3 M5 % 15 18, 48, 60
F. BRI
1. 70+5=14 ( §8)
2. 2k 43 S5HE 8
3.2AN 3N 4N 6N 9A 12A 18A
4, 100+2=50 (A) #HZ: 100+3= AAHZ 100+-5=20 (N) HE
5. 30 60 90

(M)

—., %W, 1.D 2.B 3.D 4.C 5.B 6.C 7. A 8, A
=\ AF/.

1. 2.5 0.45 2. 75 5

3.5 0.2 4, 4.0 3.96

5. > < = 6. HIXTAR KT FREH

7. 5 EHE 8. 1. 2. 4. 8 12. 24, 36, 48
=\ BTIERHITH .

1. 2 5% 14. 22, 40. 72 5 (4% %: 25. 40, 55. 75

HHE¥3: 33. 72. 75, 81

2. ¥ 2. 11, 37, 73 A%9. 25, 63, 111

M. 8. (3t26 %)

1. 2.5 4.7 0.5 10 4 1 0.4 50

2. 5.2 2.3 =~3.08
3. 5.72 4 578
F. BRERE.
1. B& 2. B§
75, BRAR[EIRE .
1. 1000-+-0.81~1234. 57 (D)
2. 11+2.5=4. 4 (GB) 16.8+4=4.2 (Jt) WBIGLHEMEH
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3. 15+2.2~7 (4>
4, 3.04+1.6X8=15.2 ()
5. 35 +5=7 (&#H)

—, %FE#H. 1.D 2.B 3.C 4. B 5. C 6D 7. A 8. A
—. E={.
1. 650 3.2 812 1.5 2. 41.6 3. 36 4. 49

5. 8.8 44 6. 30 7. HTUIE =A% 8. HILIE 1200
= HETHERMER.
8X3=24 (cm’) 12X4.5+2=27 (cm’)  (10.645.4) X8-+2=64 (cm’)
M. zhFRE. 1. B 2, B 3.© 6 8
F. BRI
1. 8.5X 4.4=37.4 CEHX)
2. 17X20+2X40=6800 (JG) 700056800 7
3. 320+16=20 CK)
4, (6+8) X4.5+2X2=63 C(EH*K)
5. (46-20) X20+2=260 (EH*K)

—
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Y ﬁﬁ%ﬂo 1\ A 2\ D 3\ C 4\ B 5\ A 6\ C 7\ D 8\ B
:\ iﬁg-'z%ﬂo

1.4 3 9. L 3 1415 .} g
15 15 5

1 5 ,

5‘2 S 6. 6 36 7. T KL 8. < > < =

= 3 4 1 4 73 5 6

— 7 9 4 13 5 4 11

M. {EERE. %

. HEREE.

12 1B 238
5 4 9

o, L 15 279

T2 0209 2 28 8
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5. 2 =20 721
9 3 12 36
4. 3 45 11 66 7 14

75 FRREIRE

(.20 _4 > 1 45-25_4

Y2045 5 2045 5 Y45 9

3. 4 F16 BIAEH: 12, 24, 36. 48-+--- H 48 A\

4, 36 F 42 BRAHEE 6 36+-6=6 (4H) 42+-6=7 ()
4 1 5 2 6 6 5 4

5. B& — = EWRIS=— = > > 1 WAE BHRE/D
5 B 3T WASTE 50 505 WARS =

—, %W, 1.D 2.B 3. A 4. B 5.C 6. C 7+ A 8.D
—. AT/,
1. A FHFXK 2. (1) FHRK (2) FHTK (3) AW
3. 300 2500000 50 O0.48 4, 9 5. 400 6. 24
=< = > <K o=
M, REXRTHEETR.
1. 16 10 10
2. (1) (20+14) X15+2+14X20+2=395 (cm®)
(2) 8X 18+ (5+8+5) X12-+2=252 (cm’)
FH, (1) 29 FHFFHK>29 AH>2900 5 HK>29 FEHHK
(2) 7TFEHFFHK>15 AH>10000 FH5 4 >990 FE75 5%
75, BRAR[BIRE .
1. 20 F£=20000 3 20000X 3 X 6=360000 (SFH %)
360000 ~“F77K=36 (AH)
2. 0.9X2X2X50=180 (FE}%)
3+ 500X 240--2=60000 (SFF72K) 60000 “F5Kk=6 (AbR)
6000 X 6=36000 (%) 36000 F3%=36 (M)
4. (80+140 ) X100+2=11000 CFAK) 11000 FiK=1.1 (AHD)
5. TX6.5+7X2-+2=52.5 (FFAK) 180X 52.5=9450 (H)
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—, %W, 1.C 2.C 3.A 4.D 5 B 6.D 7.B 8., A
—. AT/,

1. AF 2. kg R¥E 3.4 % 4.4 B 4

5. AJEE THIRE ANAJRE 6. ¥ 4 7.6 A 8. 4. & 4
=\ FEL&. 1. W& 2.OB @-C ® A @D OG-E

. EERGE. 1. B 2. (1) &R (2) BHEEIK (3) ARHLERS

7Ny FRREIRE .
1. (1) \mERWReEmRK BHARRERS
(2) AFRFREMERD FEANLERED
2. WM —HZ W
3~

4. @

—. EFERE, 1. B 2.A 3.A 4.C 5.8B
—. EZ[.,

1. 4.20 150 2. ME HEE AHE 3.1
4. 31 5. 1. 2+ 3. 5. 6. 10. 15. 30.
6 3 7. 14.4 7.2 8. 4.

N 4 4 A Y . . N —_
=. &8, 50 3 17.3 3.76
M. ¥ESITERE.

1. B 2. W&

3. 12X6+2=36 CFHEX)
5X2.5+ (6+2.5) X (10-5) +2=33.75 CEHEXK)
75, BRAR[BIRE .
1. 8000 +0.81~9876.54 (¥T)
2. 2+0.16=~12 ()

UNFTAERECE CEND BOERFRA B 5T

AnF AUBCN:#EIL 3 KEFH R, #MBIL 4 PREBE, ZH.

6.D 7.C 8.D
L Geeeeee 1.67

3 15, 30

9. 6 4
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3. (150+170) +800=§

4, 28X1.5+2X0.5%X2=2.1 (F1)
5. (18.5+27.5) X10+2X210=48300 (JT)

6+ (100-17) +8.3=10 (FX)

-+
—, %W, 1.B 2.D 3.C 4. A 5D
—. AT/,
1. 0.625 1.6 2. 5.8 650
3. 0.23  0.227 4, 4 2
5. 3 4 6. 1 36

7 4 2 8. 81 16.2
=. & 23. 25. 37. 97
T 2. 23 37, 97
M. HEE.
1. 1.06 28 3.75
2. 4.7 850 502.5 125
fi. ERBIESTE.
1. B%)
2. (1548) X12+2-8X4+2=122 CEHFEXK)
(22+11) X10+2+11X8+2=209 (FHFEXK)
75, BRAR[BIRE .
1. 5000-6.31~792. 39 (&)

o 28_ 14 26 _13
T 26 13 28426 27

3. 2.64X300+ (2.64+1.1) =330 (&)
4, (3.2+4.8) X3+2X2X1.2=28.8 (FH)
5. 6 HIfEH: 6X7=42 42+2=44 (N)
6X8=48  48+2=50 (N\) 6 X 9=54

UM HERAE (D L ERIRETEDR 6

6. A

B 2. 12, 54, 102
&% 12, 25, 54, 102

54+2=56 (N\)
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7 C

Uy
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